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1000 1994
1400 1995
1100 1996
1500 1997
2000 1998
2200 1999
2600 2000
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1994 0 1000 0 0
1995 1 1400 1 1400
1996 2 1100 4 2200
1997 3 1500 9 4500
1998 4 2000 16 8000
1999 5 2200 25 11000
2000 6 2600 36 15600

21 11800 91 42700
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11800 = 7a + 21b
42700 = 21a +91b

odalall Joesg
7a = 11800 — 21b

11800-21b
a=—

12kl 8 Jus
42700 = 21 (M) +91b

42700 = 3(11800 — 21b) + 91b
42700 = 35400 — 63b 4+ 91b
42700 = 35400 + 28b
28b = 7300 = b = 260.71
(1) Wslakl § Jos
11800 = 7a + 21(260.71)
11800 = 7a + 5475
a =903.57
t=10
(1994 - 2004) dazely Juadl i (s Buiell Slgiwd! sue
y = 903.57 + 260.71(10)
y = 3510.67 2,045 50>y
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